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Question 1: A three-phase balanced voltage source feeds the load shown in the FigQ1V,5 = 4004 - 30°
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Figure: Q1
The phase current angle of Ioa:
a)60°.
b)—60°.
¢)None of these.
d)~—30°.
e)oe.

Question 2 Fig.Q2, shows voltage v(t) and current i(t) when terminals ab in Fig.Q2(b) are opened and
shorted respectively.
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: 2: Fig.Q2, shows voltage v(t) and current i(¢) when terminal
Question 2: Fig.Q2, shows voltage v(f) ar (t) é
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Is a&b to transfer the maximum a.vérage
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Question 8: The line vol

- WO

pit) VA. vV
»
o
T

10freusazint
3

i
0 3
6
u
10
20 20 (
Z time /ms Flou‘fe )I
)
i‘\— \.T:_] *
oy \
) \f \‘ sr/\
)3 ok ew =l ¥
) = 5
% L
- }
\
% o ncit e seqguence T'm; Ve :‘“">“1;4;E;ﬂr\_’
pltage is 45 = 416 Vaars and positive SEqUENCE. & HL SIHS S et



Figure: Q8

o The two watt-meters read as:
bW, = 2981 6 W and W, = 16519.17 W.
)Wy = 11127.5 W, and W, = 2981.6 W.

~ d)None of these.
. eW; =2981.6 W, and W, = 11127. 5 W.

Question 9: Tn Fig.QY, the souree delivers 7500 VA af V; = 250£30° Vo, with yowe
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a)86.7 V.
b)6.867 N
c)8.615 V.
d)None of these.
-€)8.166 V.
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Question 4: A three-phase balanced voltage source feeds the load s
4904600 Virms- The | Zy| = 5/30°0.




The line srent L. .
a)None of these.
B)19.32/ — 4504
€)10.02 — 30°4.
d)19.32/450 4
€)10.0£ - 4500 4.

Phase balanced voltage

mms- The complex power of t}
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Figure: Q7
it i(t) is:
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Praiue of X is:
2. 38802
5)18.70Q.
¢)None of these,
d)11.892.
€)12470

Question 10: Fig.Q1o0
v(t) = 100 cos(wt 4 0°) }
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numerical expression of the instantaneous power plt) is wrong
cos 143.13° cos 2wt + 500sin 143.13” sin 2wt.



Question 12: The two watt-meters in Fig. Q12 xead as™ W, = 16519.17 W, and W; = 2119170 W. The
magnitude of the line voltage is 415 Vpps. The phase géduence is positive
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Figure: Q4

The 1,
a)Noneofthese.
b)252.0£ — 90°A.
c)250.324 — 30°A.
d)2675.0£ — 132°A.
€)243.734 — 186° A.

Question 5: A three-phase balanced voltage source feeds the load shown in the Fig.Q5. The Vap =
400£30° V,ms. The |Z4p| = |Zpc| = |Zea| and the three phase load absorbs 4000W. e
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The current i(t) is:
a)15 cos(1007t + 30°).
b)None of these.

¢)12 cos(1007t + 60°).
d)8 cos(1007t — 60°).
e)10 cos(1007t — 30°).

Question 8: The line volta,
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